ABK Singelton, Askersund
MANDAGSBRIDGE 2023-10-09

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poang % Namn MID Klubb
1 10 1411 64.14 Margareta Svensson - Pelle Svensson 43897 43898 ABK Singelton, Askersund
2 4 130.2 59.19 Christer Lindman - Leif Carlsson 200355 54243 ABK Singelton, Askersund
3 9 1229 55.87 Lennart Persson - Peter Schmidt 54719 54440 ABK Singelton, Askersund
4 1 1204 54.71 LenaBohman - Kurt Wikstrém 56467 56473 ABK Singelton, Askersund
5 8 112.6 51.17 Sven-Peter Johansson - Conny Svensson 26270 7638 ABK Singelton, Askersund
6 2 1125 51.14 KentKarlsson - Gert Bodén 4155 4113 ABK Singelton, Askersund
7 7 112.2 50.99 Nils Westling - Astor Karlsson 28355 30800 Motala Bridgeallians - ABK Singelton, Askersund
8 3 103.9 47.21 Lilian Karlsson - Ann-Margreth Andersson 67897 55166 ABK Singelton, Askersund
9 12 103.8 47.16 Margareta Carlsson - Marie-Louice Lind 4145 67896 ABK Singelton, Askersund
10 11 96.4 43.80 Kjell Posse - Barbro Posse 43909 43910 ABK Singelton, Askersund
11 5 85.2 38.72 Birgitta Carlsson - Bengt Carlsson 89641 89279 Motala Bridgeallians - ABK Singelton, Askersund
12 6 79.0 35.90 Roland Karlsson - Leif Karlsson 6595 50714 ABK Singelton, Askersund
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